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{ 2x% +4y =13 { 2z +4y =13

37—y =13 Solving the first equation for y, we get y = 7 — 2z and substituting this into the

second equation, gives 2z + (7 —2z) =13 <« 5z =20 <& z = 4. Substituting for z we
gety =7 — 2z =7 — 2(4) = —1. Thus the solution is (4, —1).

{2$+y=7

2442 =95 ‘
{ v yy . Substituting for y in the first equation gives =2 + (%z)2 =25 & Bz2=25

2 =16 = g =34 Whenz =4theny = 3(4) = 3, and when = = —4 then
y = 2(—4) = —3. Thus the solutions are (4, 3) and (—4, —3).

22 4+y=9
z—y+3=0
second equation givesz — (9 —2?) +3=0 & 22+2-6=0 <& (z+3)(z—2)=0
& r=-30orz=2 Ifz=-3,theny=9-(-3)?2=0,andifz = 2,theny =9 — (2)? = 5.
Thus the solutions are (—3,0) and (2, 5).

Solving the first equation for y, we get y = 9 — x2. Substituting this into the

4z =3y = 10 Multiplying the first equation by 4 and the second by 3 gives the system
9z +4y =1
162 — 12y = 40 . _ _ o . .
{ 9z +12y =3 ° Adding, we get 43z =43 <&z = 1. Substituting this value into the

second equation gives 9(1) +4y =1 < 4y=-8 < y= —2. Thus the solution is
(1,-2). . ’

2 —
3:32 +dy =17 Multiplying the first equation by 2 and the second by 3 gives the system
2z° + 5y =2
2 -
{ _ 6?; ——’-lgz B :—))—46' Adding we get —Ty =28 = y = —4. Substituting this value into the

second equation gives 2z° +5(—4) =2 = 222=22 & z?=11 & z==$/1L
Thus the solutions are (1/11, —4) and (—+/11, —4).

2oy =1 92— WP =T " Subtracting

the equations gives 4y +2y> =6 & 3’ +2y—-3=0 < (y+3)(y—1)=0 &
y=-3,y=1Ify=—3then2?+4(-3) =13 & =2 & z=22L Ffy=1,
then2z’ +4(1)=13 & 2'=3 & == ﬂ:ég. Hence, the solutions are (:{:%é, ——3)

and (:I:%@,l).

=
{ ;_ zz _ 8 Solving the first equation for = and the secqnd equation for y gives

Substituting for y in the first equation givesz = z* & =z(2*—-1)=0 & =z=0,z=1.
Thus, the solutions are (0,0) and (1, 1).



